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CDS & AFCAT 1 2025 - REVISION - MATHS - NUMBER SYSTEM
(@]

Q) What is the remainder after dividing
the number 37°°° by 9?

(a) 1 (b) 3 )
() 7 (d) 9
711
1000
-0
3'?It)l)D _ (_q_?_‘_’/'l'l) _;__
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CDS & AFCAT 1 2025 - REVISION - MATHS - NUMBER SYSTEM

Q) What is the remainder after dividing
the number 37°°° by 9?

(@) 1 (b) 3
() 7 (d)9

Ans: (a)
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Q) What is the remainder when 27°’ — 15% is divided by 62
(@ 0 (6) 1 (c) 3 (d) 4

] n o
a - b _ chalhc!e'f =0

5 47 % _ 52t 5 also dIvisible Ldr fadbn’ of /2.3
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CDS & AFCAT 1 2025 - REVISION - MATHS - NUMBER SYSTEM

Q) What is the remainder when 27°’ — 15% is divided by 62
(a) 0 ®) 1 © 3 (d) 4

Ans: (a)



CDS & AFCAT 1 2025 - REVISION - MATHS - NUMBER SYSTEM

Q) What 1s the maximum value of m, 1fthe number N=90 x 42
X 324 x 55 1s divisible by 377

(@) 8 (b) 7
@) 6 d 5

N = 0 x 42 %32Y 555



CDS & AFCAT 1 2025 - REVISION - MATHS - NUMBER SYSTEM

Q) What 1s the maximum value of m, 1fthe number N=90 x 42
X 324 x 55 1s divisible by 377

(@) 8 (b) 7
@) 6 d 5

Ans: (b)
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(@]

Q) The digit in the unit’s place of the number represented by
(7> =3%%)is:

@ 0 (b) 4 ; y
© 6 @ 7 L =
Power 3

4kt T 7
18 _ 5" ke — 1 — @
Remain der thts — 2 — 1
51y =g SETY =2 gkeg — ) ]



CDS & AFCAT 1 2025 - REVISION - MATHS - NUMBER SYSTEM

Q) The digit in the unit’s place of the number represented by
(7> =3%%)is:

@ 0 (b) 4
© 6 d) 7

Ans: (b)
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(@]

Q) The sum of 52+ 62+ 72 + ...+ 15215

(@) 1110 (b) 1120
(c) 1310 (d) 1210 Miotpgbs  pt = n(ﬁﬂ)(inHl
6
(/27‘ ity /5‘) ~ (Mz‘ +3z+ql)
(is0)(aaser) = A(4+)(2xun)
| 6
b
3

_ }?‘xluz/ yxs X . (973)) = 60 = 2480 — 40 = 2y
= - . ; =

4 ot = (1210



CDS & AFCAT 1 2025 - REVISION - MATHS - NUMBER SYSTEM

Q) The sum of 52+ 62 + 72+ ...+ 1521s
@ 1110 (b) 1120
(c) 1310 (d) 1210

Ans: (d)
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(@]

Q) Ifx 959 y1s divisible by 44 and y >3, then what are values of

the digitx and y ?
(@) x=7,y=6V (b) x=4,y=8
(c) x=6,y=7 (d) None of these
175 _?_é(_ 44 = @x@
% — r
T+5+6 = 9)
795 d -
\:39 grg =re) ITO% 22

(4) 2=7 ; (=6




CDS & AFCAT 1 2025 - REVISION - MATHS - NUMBER SYSTEM

Q) Ifx 959 y1s divisible by 44 and y >3, then what are values of

the digitx and y ?
(@) x=7,y=6 (b) x=4,y=28
() x=6,y=7 (d) None of these

Ans: (a)
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Q) The number of prime factors in the expression
(6)%x (D)% (L1 is:
(a) 4 (b) ™4 (c) 71 (d) 8l

o?IO xglo X?H )\”2;(

ho - o/' P'rfme faofprfs'ahagn = o +10 113 +3%

= 40 +4Y

gGA



CDS & AFCAT 1 2025 - REVISION - MATHS - NUMBER SYSTEM

Q) The number of prime factors in the expression
(OO (D% (11)? 1s:
(a) 4 (b) ™4 (c) 71 (d) 8l

Ans: (b)
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Q) The seven digit number 876p37q 1s divisible by 225. The
values of p and q can be respectively

@ 9,0 (b) 0,0
© 0,5 d) 9,5
8t 6p 3 F
{45 = :?j k9 - [ Zk
Al i

sw+prs = tp  fpo ed paq



CDS & AFCAT 1 2025 - REVISION - MATHS - NUMBER SYSTEM

Q) The seven digit number 876p37q 1s divisible by 225. The
values of p and q can be respectively

@ 9,0 (b) 0,0
© 0,5 d) 9,5

Ans: (c) and (d)
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11
Q) The sum of three fractions is 25- When the largest

fraction 1s divided by the smallest, the fraction thus obtained J /. .ﬂ_
7 1 24 Y
1S < which is 3 more than the middle one. The fractions
are:
342 753
@ 573 ® 36y
(c) 123 (d) None of these (0) 351 3 fa:f_ - iy—
9°3’5 42

2 36 - ”9 = _61_ -

|

105 05 _%;»' Y2
36
§

d
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11
Q) The sum of three fractions is QE- When the largest

fraction 1s divided by the smallest, the fraction thus obtained

7
1S g which 1s ; more than the middle one. The fractions

arc:
4 2 753
73 ® 353
23
375

(d) None of these

Ans: (b)
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Q) If the sum of two numbers 1s 55 and the H.C.F. and L.C.M. of
these numbers are 5 and 120 respectively, then the sum of
the reciprocals of the numbers 1s equal to:

S5 601 A 120
@ o1 ® =3 © 0 @ 7
0 +b = 5%

axb= LeM (,4) LHCP (a,b)

axb - [20 X5 = 600




CDS & AFCAT 1 2025 - REVISION - MATHS - NUMBER SYSTEM

Q) If the sum of two numbers 1s 55 and the H.C.F. and L.C.M. of
these numbers are 5 and 120 respectively, then the sum of
the reciprocals of the numbers 1s equal to:

601 11 120

35
@ & ® =5 © %o @ 77

Ans: (c)
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(@]

Q) If the points P and Q represent real numbers 0.73 and

0.56 on the number line, then what is the distance between g-y =5
Pand O? — ,
R | " "
1 1 16 11 N 9
a) — b) — —— d — 0
@ 5 O3 © 5 9Dy

[
difance = d:ﬁ[umcc,

0.9 = T8 =% = 66
90 90

6b /5
. 7= 56—5 = ;/ '—-"'""'—6;(-— = __-:

1o




CDS & AFCAT 1 2025 - REVISION - MATHS - NUMBER SYSTEM

Q) If the points P and Q represent real numbers 0.73 and

0.56 on the number line, then what is the distance between
Pand O?

1

16
@ - O

1 11
g (© E (d) %

Ans: (a)
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Q) Minimum difference between x and y such that 1x 71y 61 1s
exactly divisible by 11 1s

@) 2 (b) 3 c) 1 (d) 0
VTN [+71f+] = 1+
[9(7/0‘ 6/ d f
AL rtl1 6 = x+7
d-wz =0




CDS & AFCAT 1 2025 - REVISION - MATHS - NUMBER SYSTEM

Q) Minimum difference between x and y such that 1x 71y 61 1s
exactly divisible by 11 1s

(@) 2 (b) 3 () 1 (d) 0

Ans: (a)
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Q) The value of
SRS SRS SRR SRS L
V7-N6 V65 5-2 f8-7 3-8 ) AT VT
@ O (b) 1 (c) 5 (d) 7 {,
Tl JE+ G
/ - /L o+ _ Y I
ollﬁ'renu.-.

= ViV~ (Vo145 +{V§+C) (\/’7«\[7 [f',a\/’)
= V5T = ars -(5)

-___-)




CDS & AFCAT 1 2025 - REVISION - MATHS - NUMBER SYSTEM

Q) The value of
S SRR SRS S S
Vi-v6 65 5-2 8-+7 3-8 "
@ O (b) 1 © 5 d 7

Ans: (c)
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Q) If the number 413283P759387 1s divisible by 13, then what
1s the value of P?

(@) 3 ) 6 () 7 (d) 8



CDS & AFCAT 1 2025 - REVISION - MATHS - NUMBER SYSTEM

Q) If the number 413283P759387 1s divisible by 13, then what
1s the value of P?

(@) 3 ) 6 () 7 (d) 8

Ans: (d)
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Q) What 1s the unit digit in the expansion of 67°%7
(@ 1 (b) 3 (c) 7 (@) 9



CDS & AFCAT 1 2025 - REVISION - MATHS - NUMBER SYSTEM

Q) What 1s the unit digit in the expansion of 67°%7
(@ 1 (b) 3 (c) 7 (@) 9

Ans: (a)
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Q) One pendulum ticks 57 times 1 58 seconds and another 608
times 1 609 seconds. If they started simultaneously, find
the time after which they will tick together.

211 1217

@ 7o ® T

S

1218 1 1018
© g s d g s




CDS & AFCAT 1 2025 - REVISION - MATHS - NUMBER SYSTEM

Q) One pendulum ticks 57 times 1 58 seconds and another 608
times 1 609 seconds. If they started simultaneously, find
the time after which they will tick together.

211 1217
@ Tgs ®) g
1218 4 lois
(c) T (d) 19 S

Ans: (c)
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Q) The sum of first 47 terms of the series

1 1111 1111 |
—_— 4+ — 4 — 4+ — —— .. 1S
45 6 4 5 6 4 5 6

1
@) 0 ® -



CDS & AFCAT 1 2025 - REVISION - MATHS - NUMBER SYSTEM

Q) The sum of first 47 terms of the series

1 1 1 1 1 1 1 1 1 _
— T —t—+t—+———..... 1S

475 6 4 56 45 6

@ 0 ) -
1 oS
© - @

Ans: (b)

EXAMS
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Q) If 10" divides 62> x 757 x 105%, then what is the largest value
of n?
(@) 20 (b) 22 (¢) 23 (d) 28



CDS & AFCAT 1 2025 - REVISION - MATHS - NUMBER SYSTEM

Q) If 10" divides 62> x 757 x 105%, then what is the largest value
of n?
(@) 20 (b) 22 (¢) 23 (d) 28

Ans: (a)
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(@]

EXAMS

Q) What is the remainder when (17> + 23 + 29%) is divided
by 23 ?
@ 0 (b) 1
© 2 (d) 3



CDS & AFCAT 1 2025 - REVISION - MATHS - NUMBER SYSTEM
(@]

EXAMS

Q) What is the remainder when (17> + 23 + 29%) is divided

by 23 ?
@ 0 (b) 1
©) 2 d 3

Ans: (a)
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